TH2EE EXHE-NXFEERVERBE - IMREE(RER] GIHE1—1)

E el
= 3y = IRZFHE =i H INZRE
nH = BRAH RIE | 2k | >owm [>oeme]| XE | £ | scem [Sceme
HAR FHEEE | XRE | PHEHESE HArE REZE | NREE | REEH
1 |BARE 12828~300 80,000 80,000 80,000
7. 2 |BseEaE 11A8H 120,000 120,000/ 120,000
FHIE | 3 |#iERPILHASHIFEE 45 ~38 203,600] 203,600 203,600
. 4 | TRERSFYRST(7EE |48 ~35 10,000 10,000 10,000
5 | 5
Nt 413,600/  413,600( 413,600 0 0 0
FETXEY—IL N
p L ooy 48 ~3R 112,000 112,000 112,000” ik
&4 | 2 [VIPR—IL KRS 4B ~38 120,000[ 120,000 90,000]|
_ 3 |BREXYT 9B=~z108 | 154,000 130,000 31543 hiE
EOE o
INEE 386,000]  362,000( 233543 0 0 0
1 |BWEREY—EX 48 ~3R 739,000]  739,000] 511,000
2 |HhiBthiEESTLE 9F26H 95,100 36,700 36,700 it
. 3 [FLao7Hmy 48 ~38 117,000 117,000 117,000 i
Bk | 4 [q1FsFEREE 4 ~3R 33000/ 33000 33,000
5
N 984,100(  925,700] 697,700 0 0 0
1
2
I 3
B | 4
5
INEE 0 0 0 0 0 0
1 |[fEOREE 4A~3R 100,000] 100,000  100,000||
2 [BELSZSERILEE 4A~3R 51,600 51,600 51,600
: 3
REE [ 4
5
INEE 151,600  151,600] 151,600 0 0 0
N 1 [HRMZRRAR—VEE 2H23H 117,000  107,000] 107,000
: 2
xXi |3
- 4
AR—Y | 5
INEE 117,000 107,000[ 107,000 0 0 0
1 |#sshdpLE 58176 510,000 410,000 50,000 FIE
2 |HEsHEEEOERS 12868 200,000{ 200,000 17557 it
=4 — |3 [REEREALIF—2ay |12A~1A 777,400 777,400 160,000
T e
INEE 1,487,400 1,387,400 227557 0 0 0
1
7. |2
FH52< [ 3
Y-12E¥FH| 4
LY 5 _
INET 0 0 0 0 0 0
. - 3,539,700( 3,347,300| 1,831,000 0 0 0
P E = AN E ’ ’ ’ ’ ’ ’
T~ ABRRAE DT (A) (B) (©) (D)
FEBEMBEOEE [(B)/(A)] 54.70%| EEEMHBILOESI(D)~(C)]| #DIV/0!
EERE iR |48 ~38 269,197| 269,197] 269,197
#w & i 3,808,897/ 3,616,497 2,100,197 0 0 0




BHI2EE FXEE ﬂli%%i&0$¥$ﬁ¢ IR R

CEICES]D <E§J§*ﬁﬂi}> (BI#E2)

E 7 BB BEES |
ES ES R TS
BEAT G S Bl 4%
EFiegs =i AR SH24%E10A ~ S HM3E3A =i HAR
XIS HARE Ei=| SF24E11A88 Y=
REE LEESE I LEFKEZEDmE
(TR ILTHI=OITHIZ B KR E 1T, FEESBEICHE
gy |AERITIIOTHD,
B B Tl 1085 ~ 12% Bl #E BF
EHEISAT CAETNES EMeIGAT
BiRir OﬁéﬁFﬁ;&"E"nJIIﬁ
o o OB NI o
FRNE | NEF opmam n&E
OFHILHE (R, NERLSBE
— ARSI A S 300 A — RS AR A
BEHROER,
A~ e s smaezas LA~
AEVIH N [iTEt CERS) EE(EH) REyIFH N [HEt CERS) FEEINET=D)
FEHREEER(A) 20 50| EwaeEER L)
iy N E S AEE (=) 3 1S iR [E] $ ([E)
E~EEEM(N) 60 SO[E~REEH (L) 0
SE )5 AR (BFRE) 0.5 5|| F 95 hneRs (RS)
I~ S hNES RS (BSRE) 30 250|| &~ % hnehs (BRS) 0
&5t (BRE) 280 FFR &5t (BRE) 0 F¥fd
© o= FofF o Fo{F
s FS5BLS: ; FSLERS
RO | Ghiom| O wxslm | ERETE) KRSl
; UE—FY = UBE—FY
| ZDHh( ) FDH(
LORE |FERAMRUVEERSRE LRDOAE
| | R EIC R N R = (BLM)
¢ U A
EXES SERbE XS SEmBZ
2 B| 3@m P " = R REEE " =
IR ON 120,000 120,000| XFRth#5Bh &
g &t 120,000 120,000 0 0
o K 5B EXZS #EBh
SH4#E 5%
R B swm | wgw |  WF REE | iz =
EIERE 60,000 60,000 [LrETARAZTH
BiEE 5,000 5,000 [2%&v78% (100M x50 A)
RRE—, FS5HIFI2,000
F S A 5% 52,000 52,000 |32 301, EnRIs0000
M (100F x 500%R)
ERA¥ 3,000 3,000 |[SEEE R
& & 120,000 120,000 0 0
DLiHEE 120,000 L E
o nxzE[ 0] | 0]




TH2EE EXHE-RXFEERVERHE- ﬂlfﬁ%i[$¥?zﬂ]<}ﬁﬁﬁ*ﬁﬂﬂ>(3']#&2)

NE * O52=5~¢ BHEES _
EHEETE EEIRE
BELT R ERTABEAILESR—ay
=4 E i HAR SF256 5 ~SFI3FE2H ES RG]
— SH2&E1281H —
KRR BAWVICHET HHEBO AR THSE
TR AEEAINZIR— a0 TEMTHIEIZLY, fhiz
E2EMY FERLBVEHRZRIHL, ELLVEDLARELT, Hhig
RHADANREZVDEDITERDHLWLEEY HL ., #kiEihis e
ROFEEIEERS,
F- I RELTEHENRAD S,
BHME RS 1805309 ~ 2505 B fE R
ENiR T il N E EheisT
=R N: N OFfI&#IE (REE)
oia oia = . % oia
EENE | wE (el st TeRE k=
OF#% 28 K31+, e
— S mAE 250 A — RS mAE A
FHAUN— [BLOERES . BB RERE | EHAV/N—
AV TH D [ITat CEES) EE(HAH) RV IR D [ITEE CEES) EEN(EH)
EHREEFEHN) 25 30| ErotEEH(N)
EiEiAF | EEE 2 (E) 3 2| ZE i [E %7 ()
ERBEEEFFH(AN) 75 60| FEREEEE(AN) 0
SES e (BFRE) 2 A|| 95 mnmRE (B5RS)
ARSI (BRE) 150 240||3E~ 2 hnrERS (BERS) 0
&5 (i) 390 [ &5t (BFR) 0 B
O [E . [E =
3 FoUEF R FSES
r#o | SRCEEI 0 wzs—mm | LBOTE RR5—18
Ak = A BZ—FRYk = A B3—F Yk
Z DAt ( ) FDfth(
LEOAE BEZEAESMOIFEUA T [LERDARS
| | REFEE (BEhH) NERE & (BhH)
¢ I A
EXCY SHEEE EXCY SHEEE
B B sum P " = R R " =
wWEIEIRA 160,000 160,000( KB i4#Bh&
— MISES IR ERTS
HHHEINA 617,400 0 (RER )
= i 777,400 160,000 0 0
® X H
21K SH 48N EXCY S5 4B
2 B 3um Wi s = R Wi s =
ERE 698,500 698,500 [fL3r—sarmEmEs
ETxE 60,500 60,500 | E#RTH
ERQE 10,000 10,000 [FHIH. B
BiEE 8,400 8,400 |#&%140M x 30.A x 2[@
= =t 777,400 777,400 0 0
Y=Yk 160,000 SHLEHE
o pxzmE[ o 9




SH2EE BEXHE-NXPHERVERHE - NIRFETEBHY > (BIFHSI)

2B __ gk | 1
e EE EEIRE
BELW HESEE
Eih SH2E4H1H ~SH3EIA31 B
HEEEREENEEEMEBIEND-D. RE
E2EH 2 BEZESEOREICRIT-EME. PXUE
REOHEREDERABLEEE INELRERE
73,
4R BERES 4 H
54 EEEES SHNTEERSRE) 5H
6A BEEZTER (SHTEERERE) 6 H
N 78 78
52@;’%5 sh |BEZEZ 87
(XEReE 98 HRES. EEEXES 98
(% £7j€%:t 10H 108
i#&ﬂ:; B 118 EEEES 118
= 12H EEEES 128
18 EEFES (SIBEEHE-FTE) 18
2R BEEXER (HMEEHE-TE) 2A
3A BEEER 3H
- o L£FBEfA = W Wi
) Bk BTk
e I ;ﬁf FSUEMA I ;ﬁf FSUERM
LABE |@dizom | O TAITBE | gpiicom) S
Rire) ZDHh( ) FDHh( )
LORA FFEKR, EE A LEDOAE
| | REXPEE (Bhr) X RE = (Efi) |
¢ I A
EXES SHiEEE EXZS SHiEEE
B B 3usm P = R R " =
EEIEUNA 269,197 269,197| KBRF#HE$
& 269,197 269,197 0 0
—— EXES = EXES 5
> B S>H#EE)
B B 3@ ey s = R ey " =
EEEE-2IKILHR-
HERE 12,000 12,000 [$REDEE
(20M x 200&R x 3[@])
=B ¥ (3,000
& A 30,000 30,000 |210m)
HREN 38,560 38,560 |B#4964M x 40H
Knﬁﬁ*‘l‘jt_{&
HERE 24,180 24,180 *Eﬁziﬂﬁ774)b x
ERAR 72,000 72,000 |#n5 a5 0 m%6000 x 12
HERE 92,457 92457 |aE—. UL s—EaA
BiEE
= Hi 269,197 269,197 0 o
SHiEEE 269,197 SHEEE 0| (LFRZE:

5%@]%%?1]%0) BEEALE ;"EL,.:EJKT
0

& InzE| o] |




